Hom.AaaHHble - ANOMUHUEBbIE n
UNITMHOPO-KOHNYECKNME PEOAYKTOPDI

*QUICK SELECTION / BbicTpbiii BbIGOP Aunamuy. KM paset 0.96 ans scex nepea.otH. BXogaH.ckop. (n,) = 1400 muH'
BbixogHas . . K- - . . [ocTynHble MOTOpHbIE [ocTynHble MOTOPHLIE N
cxopo?:Tb Efs_e'q' r:::u M(?h:::lT faTrS?s’.?ﬁ m. HNSL« ¢nanuel BS ¢pnaHue! B14 puixoaHol af @
L | Pa | Ma | P | M | B S DR B R @ N
MWH KbT M e KbT M
[MuH'] [KBT] | [Hv] (kBT] | [HM] | g3 | 71 | 80 | 90 71 | 80 | 90 B Ko
1909 | 733 | 15 | 718 | 1.0 | 146 | 70 289 -
1247 1122 | 11 | 803 | 1.1 | 116 | 85 287
105.6 | 1326 | 1.1 | 949 | 09 | 098 | 85 199
911 | 1537 1.1 | 1100 | 0.8 | 089 & 90 179 )
776 | 18.04 075 886 | 1.0 076 90 159 CraHmapTHLM
69.0 | 20.30 0.75 | 99.6 | 0.9 | 0.68 | 90 197 220
65.0  21.54 0.75 1057 0.9 | 0.64 | 90 139
59.5 | 2353 055 852 | 11 | 058 @ 90 177
50.7 | 27.62 | 0.55 100.0 | 0.9 | 0.50 | 90 157 225
476 | 29.40 055 1064 0.8 | 047 | 90 109 Mo sanpocy
425 3297 037 | 798 11 | 042 | 90 137
365 3837 037 929 | 10 | 036 90 99
311 | 45.00 025 735 | 12 | 031 90 107
276 | 50.67 025 | 827 11 | 027 | 90 79
238 5873 018 | 733 | 12 | 023 | 90 97
181 | 7755 0.18 | 968 | 0.9 | 018 | 90 77

I Motor Flanges Available @ B)Supplied with Reduction Bushing B)Available on Request without reduction bushing C)Motor Flange Holes Position
JocTynHble MOTOpHbIE MocTaBnseTcs ¢ npoctaBkamut [ocTyneH no 3anpocy 6e3 npocTaBok MonoxeHune oTBEpPCTUIA
bnaHubl MOTOpHOro cnaxua

. . . . L L [CTarmap™. [For these mounting position specify in the order or add oil
EN Unit X32S is supplied with synthetic oil for lifetime MOCTABKA I nq; 571x MOHTaXH.NO3NULMIA YKAKWUTE B 3aKa3e Ui 3aKaxuTe Macmo
lubrification, no maintenance is necessary. — —
See table 1 for lubrication and recommended quantity.
In table 2 please see possible radial loads and axial :
loads on the gearbox. B7 B8
For complete documentation please visit our web site. . . LT . LT . L L
AGIP BP SHELL KLUBER MOBIL
Telium VSF 320|Energol SGXP220| Tivela Oil WB [Syntheso D220 EP|Glygoyle 30
I Pefyktop X328 NOCTaBMSIETCS C CUHTETUYECKUM Oil plugs on request / MacnsiHble Npo6ku NOCTaBMSIOTCS MO 3anpocy Taon. 1
MacrioM Ha BeCb CPOK crnyx0bbl. Tex.obcnyxusaHme He
TpebyeTcs.
B tabn.1 ykazaHa cma3ska 1 pekoOMeHAyEMOE KOr-BO. PAOUAIIBHBIE U AKCUAIIbHbIE HAT'PY3KU
B Tabn.2 ykasaHbl JonycTuMble paguarnbHbie U1 Output shaft ™ FA TFR
aKkcuarnbHble Harpysku pegykropa. BbiXOAHO Bar v 1| [H] | [H]
[MonHasa JokymMeHTaums NpyBedeHa Ha Halem caunTe.
250 | 400 | 2000
. Fr 150 | 450 | 2250
D Das Getriebe X328 ist mit synthetischem Ol gefiillt 100 | 500 | 2500
und ist lebensdauergeschmiert. < Fr mp 75 560 | 2800
g "I;apelle '1tislt die Schbmiermenge und das empfohlene 50 560 | 2800
chmiermittel angegeben.
In Tabelle 2 sind die zulassigen Radial - und 25 | 560 2800
Axialbelastungen des Getriebes aufgeflihrt. 15 560 | 2800
Die komplette Dokumentation, Wartungs - und (':R ‘e ler bearinas fo i dial Toad
: H d H n request taper roller bearings to increase radial loads.
Inbetriebnahmeanleitungen finden Sie unter. Mo 3aMPOCY MOALIMIHMKY G KOHWMECKAMI PORUKAMY AN
yBenuyeHusa paanarnbHbIX Harpy3ok
Input shaft
E El reductor tamario X32S se suministra, lubricado de BxopHoii an
por vida con aceite sintético y no requiren mantenimiento ‘ Fr n | FA | FR
alguna. [mue” 1) [H] | [H]
Ver tabla 1, para cantidades y aceites recomendados. <= Fa »(*) 1400 | 240 | 1200
En la tabla 2, se encuentran las cargas radiales y axiales SX DX 900 | 280 | 1400
admitidas por el reductor.
Para documentacion completa, consultar nuestra Web. 600 | 340 1700
*Strong axial loads in the DX direction are not allowed.
I'IpmmeHeHme MNOBbILWEHHbIX akCUarnbHbIX HArpy30K B HanpasieHUN DX HeaonycTnumo,

Tabn. 2

= SELECT THIS TYPE AND THIS SPECIFIC SIZE ON THE WEB PAGES TO GET COMPLETE TECHNICAL DATA.
[ns 3aBeplueHns BbiGopa BbiGeEpUTE 3TOT TMM M pa3Mep Ha HalleM BeG-canTe.

1-7



DocTtynHbl 2D-3D yepTexu

Basic Gearbox

PXSZSC = ba3soBblii pegyKkTop
Mor.dona] Kog.komnn. | oF | A oF ) A 63
63B5 | K063.4.041| 140 | 184 r's [
71B5 | K063.4.042| 160 | 182 ©
80/90B5 | K063.4.043| 200 | 184 N | ;E\ﬂ(
[ !}2@(&3
v
71B14 | K063.4.047 | 105 | 182 —— @ I
80B14 | K063.4.046| 120 | 183 [ %# ™
90B14 | K063.4.041| 140 | 184 :—‘ﬂzzﬁa 1
88
4 otB. M8x15 =
//?\\
*--9
\I ,
Mounting holes
position
MonoxeHne
MOHTaH.OTBEPCTUiA On request
Mo 3anpocy

1 Output flange

* BbixoaHow cnaHew

px32s=F
koA komnn. KX3S.9.010

7,
%

7
120
F2 Output flange BR Reaction Arm
PX32S= ** BbIXofHOV cpriaHeL PX328 ** PeakTuBHas wraHra
kon komnn. KX3S.9.011 ‘ ko komnn. KX3S.9.027
7
% 11
= = @
9 5 110
160
X32S... Input shaft Single shaft
R BxoagHow Ban PX328"A" OpHOCTOPOHHWI Ban

M5X13 l< 146 |
25

89
26

N

22

dl [b1/c1| e1 lm1| n1 | t2 o1 @ «op komnn.
3209 6 37.5 40 | 120 | 140 |22.5 M8x20| KX2S.5.028
22590 8 |60 | 63.2126.8 190 | 28 |M8x20| K063.5.028

1-8





